Staff Selection Commission
(Government Of India)

QID : 1 - In the following question, select the related word from the given alternatives.

Influenza : Virus : : Ringworm : ?
Fafafad wy A iRy T foeed! # @ ¥6fid wss ot gl

SR : fqum:: Qrg - 2
Options:
1) Bacteria

2) Fungi
‘HdDh
3) Parasite

4) Protozoa
Teranaf

Correct Answer: Fungi
DHdh

Candidate Answer: Fungi
Hddh

QID : 2 - In the following question, select the related word from the given alternatives.
Fan:Blades::?:?
Frofafad oy A f3u T fawedt @ § WEi wss &1 gl

Yar:d@::2:?

Options:

1) Bonnet : Car

PR

2) Room : House

BHRT WX

3) Arc : Circle

gugus g

4) Book : Chapter

Q&I : 3T

Correct Answer: Book : Chapter
& : ST

Candidate Answer: Room : House
HHI - WX

QID : 3 - In the following question, select the related letters from the given alternatives.
LSFW : NTHX : : PKWE : ?

Frafafad oy A 3T e fawedl & @ Hafid sieri &1 gfu

LSFW : NTHX : : PKWE : ?

Options:

1) RYLF

2) RLYE

3) RLYF

4) RLGF
Correct Answer: RLYF
Candidate Answer: RLYF

QID : 4 - In the following question, select the related letters from the given alternatives.
LMNO : NQTW : : GHIJ : ?
Fafafed gy & fldw e fasedi & € Tafid siarl 1 gfAu

LMNO : NQTW : : GHIJ: ?



Options:
1) ILOR

2) ILRO
3) ILMO

4) LRMO
Correct Answer: ILOR
Candidate Answer: ILOR

QID : 5 - In the following question, select the related number from the given alternatives.
11:120::13:?
Frafefed uy 7 g e fasedi # & Heifta wem 1 g

11:120::13:?
Options:
1) 165

2) 168
3) 170

4) 169
Correct Answer: 168
Candidate Answer: 168

QID : 6 - In the following question, select the related number from the given alternatives.
103:10609::106:?

Fafafed gy & fiiw e fow et & © Taifda e &1 giul

103:10609::106:7?

Options:
1) 10606

2) 10306
3) 11236

4) 13636
Correct Answer: 11236
Candidate Answer: 11236

QID : 7 - In the following question, select the odd word from the given alternatives.

Frafafaa oy A fau T fawedt & § fawm wee &1 gfu

Options:

1) Newspaper
HMER T4

2) Journal

3) Novel
U™

4) Magazine
ElECa]

Correct Answer: Novel
SUA

Candidate Answer: Novel
U

QID : 8 - In the following question, select the odd word from the given alternatives.

T vy & faw e faeedi & § fawd wss &1 g
Options:

1) Definite

[BEGS

2) Specific
3) Doubtful
ey

4) Distinct

e

C_orrect Answer: Doubtful



Candidate Answer: Doubtful

QID : 9 - In the following question, select the odd letters from the given alternatives.

Frofated oy o feu e faredi § § fawm sieri &1 gl
Options:
1) BEHK

2) IMPS
3) PSVY

4) EHKM
Correct Answer: EHKM
Candidate Answer: EHKM

QID : 10 - In the following question, select the odd letters from the given alternatives.

Frofarea oy o w T fawedt & © fawm sieri &1 gl
Options:
1) AD

2)PT
3) EH
4) 1M

Correct Answer: PT
Candidate Answer: PT

QID : 11 - In the following question, select the odd number pair from the given alternatives.

Frofared oy o fiw e fawedt & ¥ fawm wem gm # gy
Options:

1)12-48

2)7-28

3)5-20

4) 11 -55
Correct Answer: 11 - 55
Candidate Answer: 11 — 55

QID : 12 - In the following question, select the odd number pair from the given alternatives.

Frafafed oy & v e fawedt & 9 fawm T gw & g
Options:
1)12-28

2)20- 36
3)42-58

4)72-90
Correct Answer: 72 — 90
Candidate Answer: 42 - 58

QID : 13 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Ale

2. Align

3. Amend
4. Anatomy
5. Alpine

Fafifed el 1 e & oM ard 1 & SFaR o |

1. Ale

2. Align

3. Amend
4. Anatomy
5. Alpine
Options:

1) 51342

2) 35412

3) 12354



4) 12534
Correct Answer: 12534
Candidate Answer: 12534

QID : 14 - Arrange the given words in the sequence in which they occur in the dictionary.

1. Den

2. Dragon
3. Drop
4. Desk
5. Doom

FafaRed <real &1 AGHIR & 3 I 1 & AR o |

1. Den

2, Dragon
3. Drop
4. Desk
5. Doom
Options:
1) 54312
2) 14523
3) 31245
4) 13245

Correct Answer: 14523
Candidate Answer: 14523

QID : 15 - A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.

A/ B, D,G,?

W;wﬁmw%,%ﬁ@wqaw%lmwﬁmﬁﬁﬁﬁﬁwﬂ,iﬁﬂmﬁ
RSB

A B,D,G,?

Options:
1)K

2))
3)L

4)1
Correct Answer: K
Candidate Answer: K

QID : 16 - A series is given with one term missing. Select the correct alternative from the given
ones that will complete the series.

VWR, TUP, RSN, ?

W;WWW%,W@WUEW%Immﬁmﬁ@ﬁwmw,ﬁﬁﬂﬁ
RIS

VWR, TUP, RSN, ?
Options:

1) PLQ

2) PQL

3) LPQ

4) PRM

Correct Answer: PQL

Candidate Answer: PQL

QID : 17 - In the following question, select the missing number from the given series.
3,10,31,94,?

Frafafed uy & fiu T fawed § @ g i aa S|

3,10,31,94,?
Options:
1) 197

2) 127



3) 283

4) 317
Correct Answer: 283
Candidate Answer: 283

QID : 18 - In the following question, select the missing number from the given series.
3,4,12, 48,576, ?
Frafafad vy A f3T T fae el & @ g sie J1d S|

3,4,12, 48,576, ?
Options:
1) 27648

2) 13824
3) 23040

4) 28166
Correct Answer: 27648
Candidate Answer: 27648

QID : 19 - Sunita walks 45 metres towards south. Then turns right and walk another 45 metres.
Then turn right and walks for 20 metres to reach point L. She then again turns to her right and
walks for 45 metres. How far (in metres) is she from point L?

A SO P SR 45 Tiex Tadh ¢ | PR I TS § T IR 45 Hiex Feeit o1 PR T ge @ T 20
%ﬂy?ﬁLmuﬁﬂ?ﬁ%laﬁﬁﬁﬁa’rﬁﬁs?ﬁ%am%rﬂaaﬁ%la’sﬁﬁL%W@
WRE?

Options:
1) 50

2) 45
3) 25

4) 60
Correct Answer: 45
Candidate Answer: 45

QID : 20 - Priyank ranks 6% from the bottom and 28" from the top in a class. How many students
are there in the class?

e FH iR A6 ITMINRA 28 IRARE | F&TH FPaToE 2

Options:
1) 31

2) 32
3)33

4) 34
Correct Answer: 33
Candidate Answer: 33

QID: 21 - In a row of people Manu is 71 from bottom end of row. Shrey is 10 ranks above Manu. If
Shrey is 8" from top, then how many people are there in this row?

AM P TH UG d, T TR F BRI 73021 90, TV 10 WA FW P I I IR S IRV A,
39 dfe & fpem AT 82

Options:

1) 25

2)26

3) 24

4) 23
Correct Answer: 24
Candidate Answer: 24

QID : 22 - In the following question, select the word which cannot be formed using the letters of
the given word.

Instructor

Fafifed fowed & ¥ 98 s T & AT 0 Tree & S1aRT &1 TR FXds o a-IraT off Tl



Instructor
Options:

1) Rust
2) Tort
3) Stop

4) Stint
Correct Answer: Stop
Candidate Answer: Stop

QID : 23 - In the following question, select the word which cannot be formed using the letters of
the given word.

Encourage
FrafaRed fasedl § @ 98 e I o AT 70 et & 31&RT BT RN HXP g1 ST off Fha|

Encourage

Options:
1) Courage

2) Court
3) Race

4) Encore
Correct Answer: Court
Candidate Answer: Court

QID : 24 - In a certain code language, "SURGEON" is written as "QLHDURV" and "CORNER" is
written as "OHKULF". How is "SHADOW" written in that code language?

T A1y #1s U #, "SURGEON" %1 "QLHDURV" forar ST §
TYT "CORNER" %! "OHKULF" f3RaT WITaT 1 39 $Is T & "SHADOW" & fhd TR forar Smwm?

Options:
1) DRTERS

2) TRADEV
3) UQBCFU

4) TFBCPX
Correct Answer: TRADEV
Candidate Answer: [ NOT ANSWERED ]

QID : 25 - In a certain code language, "SUN" is written as "54" and "PUT" is written as "57".
How is "CAT" written in that code language?

T IRy HIg 4 §, "SUN" & "54" a1 Sl & TuT "PUT" S "57" {oral STl 81 59 i HI
¥ "CAT" & frd YR foran seam?

Options:
1)28

2) 24
3) 52

4) 36
Correct Answer: 24
Candidate Answer: 24

QID : 26 - In the following question, by using which mathematical operators will the expression
become correct?

14?2?24?26?4

Frafafad uy ¥, feu 1t iyt & ¥ fooq wfordia dfparsii o1 v e § f2ar mar geiezo g8t 8
[Cile

1422242624
Options:

1) x, +, > and x
X, +, > AUl x

2) +, x, > and x
+, %, > dYl x

3) +, +, =and x
+, +, = dUT x



4) =, +, > and x

+, 4+, > dUl x

Correct Answer: +, X, > and x
=, %X, > dYl x

Candidate Answer: +, x, > and x
+, X, > AUl x

QID : 27 - In the following question, correct the equation by interchanging two signs.
43+9-6+3 x8=50
frofafad oy ¥, for) < nitrda wfsarst &) sioe & sgass feu o wrfievo & w8l Sifem |

43 +9-6+3x8=50
Options:

1) + and x

+ YUl x

2) +and +

+ dYr +

3)-and +

—dur +

4) —and x

— Yl x

Correct Answer: —and +
— Yl +

Candidate Answer: — and +
— Yl +

QID:28-1f4*9%2=47and9* 0% 6=84,then5*3% 7 =7?

U 4*90%2=47U9%0% 6=848,A5*%3%7=2
Options:

Correct Answer: 46
Candidate Answer: [ NOT ANSWERED ]

QID:29-1f1/4/3 = 254 and 3/6/8 = 479, then 5/2/7 = ?

g 1/4/3 = 254 AU 3/6/8 =479 ], MW 5/2/7 =2
Options:

1) 416

2) 461

3) 368

4)638

Correct Answer: 638

Candidate Answer: [ NOT ANSWERED ]

QID:30-
In the following question, select the number which

can be placed at the sign of question mark (?7) from
the given alternatives.

TreafTag vy & Br o el # ¥ uy e
(?) % TIE W A a= FE=AT B AT

i 3 2

6 11 5

5 1 8
72 2 50

Options:
1)38

2) 40
3) 42

4) 44



Correct Answer: 44
Candidate Answer: 44

QID:31-
In the following guestion, select the number which
can be placed at the sign of question mark (?) from
the given alternatives.

TffE vy # or ow foedl & @ uy Rep
(?) & TA UT A Tl TEAT A FT

1 7 2
8 6 4
9 2 5
4 7 ?

Options:

1)9

2) 10

3)11

4) 12

Correct Answer: 11
Candidate Answer: [ NOT ANSWERED ]

QID:32-

How many quadrilaterals are there in the given
figure?

& 7% P F Tra TP €2

P
g
&
\v\
L)
%
~
N .
4 3
\\\ ’ S
\//
Options:
1)2
2)3
3)4
4)5

Correct Answer: 2
Candidate Answer: 4



QID: 33 -

How many triangles are there in the given figure?

& E gl & R e ¥

Options:
1) 24

2) 26
3)28

4) 30
Correct Answer: 26
Candidate Answer: [ NOT ANSWERED ]

QID : 34 - In each of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:

1. All women are hardworking.
II. All intelligent are advocate.
II1. Some intelligent are women.

Conclusions:

1. Some advocates are women.

II. Some hardworking are women.
III. Some women are advocate,

IV. Some hardworking are intelligent.

2 T T U0 Uy H T U IR FTF 91 I HUA R M1a Fo e 3w e B, wraife 3
WG T1d d & e g1 gt 8 1 F+t e ue ik fipr Freifa @3 o feu 7w @9 @ ey, fow
T Y1 & YR W GRET 8 |

DPY: !

L 9+ wfgemd et g1
I 9+ A aeta g1
1I1. 9 S ufeart 1

fre: )

1. % FId Ao g1

II. T Heat Afgant 3|

11I. $© Afgant doid &

V. $3 Be-d! ST 8

Options:

1) Only conclusion (II), (III) and (IV) follow

Fad e (1), (1) Ju1 e (av) T8 8

2) Only conclusion (I), (II) and (III) follow

Bad ey (1), (11) JuT ey (111) TEt §

3) Only conclusion (I), (III) and (IV) follow
= (1), (111) T e (1v) WEh €

4) All conclusions follow

Tt Frepd wet 8

Correct Answer: All conclusions follow

Jff P wet ©

Candidate Answer: All conclusions follow

Tft frese

QID : 35 - In each of the following question below are given some statements followed by some
conclusions. Taking the given statements to be true even if they seem to be at variance from
commonly known facts, read all the conclusions and then decide which of the given conclusion
logically follows the given statements.

Statements:
1. Some pins are cups.
II. No cup is book.

Conclusions:



1. Some pins are books.
II. Some pins are not books.

2 feu Tu Ul Uy B $8 $UF 3R S0 918 I HUAT R URG $o A feu e g, graifes S
T 1 T T A g Tt 81 gt ey 1 ok R fuiia &% b fog o 19 3 fase, fag
MY YT & YR TR GfRTHT B |

PY:
L 5% U BUEl
II. FE FHY TWF T8 g
forep:
L % - g&® g
IL. o e g T &1
Options:
1) Only conclusion %) follows
Fad sy (1) Tgt
2) Only conclusion (II) follows
() T
3) Both conclusion follow
S g Fepy wet §
4) Neither conclusion (I) nor conclusion (II) follows
T e (1) ok 7 feme (1) e
Correct Answer: Only conclusion (II) follows
Haa Freey 1) v §

Candidate Answer: Neither conclusion (I) nor conclusion (II) follows

T freey (1) 3R 7 € e (1) TE R

QID: 36 -
Three positions of a cube are shown below. What
will come opposite to face containing ‘Q'?

& o ue fr AT HagEwT T mE E Q
TF God & [QUId T HAm?

- S
P
Options:
1)p
2)R
3)S
4)2z

Correct Answer: S
Candidate Answer: S

QID: 37 -
Three position of a cube are shown below. What will
come opposite to face containing ‘R"?

#r T g & de s el i ¥ R gw
Foleh & Touda Far amdeme

Options:
1Y

2)G

)W



4)C
Correct Answer: C
Candidate Answer: C

QID:38-
In the given figure, which letter represents carnivorous
plants which are not green?

& s ety A FF @ veR 2 Feed 0 S
e aE § @ o &

/’_“““/’_““

Carnivorous/ / a d b P]amf
\\ /e \QC /
. Green/
N B Y
~
Options:
1)d
2)g
3)e
4)f
Correct Answer: d
Candidate Answer: d
QID: 39 -
In the given figure, how many yellow birds are
there?

aﬂéa@ﬁﬁ forae O weht ¥

Blrdsf 11 \4( \ ~ Fly/

7 ST

J‘_Yeliowf

Options:
1) 25

2) 32
3)18

4) 20
Correct Answer: 32
Candidate Answer: 32



QID: 40 -

In the given figure, how many water are either tap or

shower?

& g gy &, frger 99 W S A9 ¥ W pEw

g2

Tap/del —»

Options:
1) 168

2) 111
3) 125

4) 108
Correct Answer: 111
Candidate Answer: 111

QID: 41 -

31
+— \\ater/STeT
43
___,f"_‘“m\

57 ki Shower/
68|49 J«—
Y g

e T

Which answer figure will complete the pattern in the

question figure?

Hid W IR HHD T AFia & IasT & g

FHEM?

Options:

N
e

2)

B,
N

4)

Y
N

y
=
A

?
7
A




Correct Answer:
\

Candidate Answer:
A

2\

QID: 42 -
Which answer figure will complete the pattern in the
question figure?

HiF I 39T BT UY T F UfEET B QI
HLN?

My m
=
?
Options:
1)
L1l
2)
3)
Ll
4)
L1

Correct Answer:

Ll

Candidate Answer:

Ll




QID:43 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 7S 39T e # ¥ 38 S el @ gaw
Brm & oy smpla Bfea &

¢

Options:
1)
2) O
3)
@
4)
CorreEt)Answer:
Candidate Answer:

QID: 44 -
From the given answer figures, select the one in
which the question figure is hidden/embedded.

& 0% IR FEad # ¥ 37 W AFEE H g
o & oy agpla B B

K

Options:
1)



2)

3)

4)

Correct Answer:

LA |

Candidate Answer:

QID: 45 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
cpened?

= F o eladl # REw Agan Fe &
AlsHT S IUT Wield & 915 g TFH 397 3HiA
s e aeme

Sl=

Options:
1)

2)

3)




L

Q) &

Correct Answer:

Candidate Answer:

O

QID: 46 -
A piece of paper is folded and punched as shown
below in the question figures. From the given
answer figures, indicate how it will appear when
opehed?

#er & U HIFad F B dguR FEe &
HET Oed 9T Tied & 98 9 R 3T Mg
s femre e

G| | I

Options:
1)

=

2)

7
)¢

Q

3

-~

<_7
=)

Q

4

=

N
N




Correct Answer:

=

Candidate Answer:

QID: 47 -
If a mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

ofe TR TUUT @ AB IW@T U @ ST, & & g
AT WA # ¥ 9 @ 3eE Uy el fr
e ufafasa gefre

< B

m

Options:
1)

2)

3)

&

4)

()

Correct Answer:

K

Candidate Answer:

K




QID: 48 -

If & mirror is placed on the line AB, then which of the
answer figures is the right image of the given
figure?

IfE U SUUT FTAB T W W@ Aw, &t &
TR HEaAl & ¥ o O aela vy gl &

& ufafe gefe

Options:
1)

N
—

N 2 [

3

—

4

=

Correct Answer:

4217

Candidate Answer:

4217




QID: 49 -
A word is represented by only ene set of numbers as given i any one of
the alternatives. The sets of numbers given in the altematives are

represented by ftwo: dasses of alphabeis as shown in the gven two
matrices. The columns and rows of Matrix-l are numbered from 0 to 4 and
that of Matrix-ll are numbered from 5 to 8. A letter from these mafrices can
be represented first by its row and next by its column, for example, 1" can
be represented by 12, 44, efc, and ‘D’ can be represented by 75, 97. elc.
Similarly, you have to identify the set for the word “CHEAT”.

T 9T A T HEAIEHEE G% avE ¥, e B Reed # @
TRl T & T &) Rwedt # U ow gwanwes ya &g st
gRT gaifw e ¥ ot & R oaw A e A ¥ e owew aiR
oftr #r HEar 0 & 4 & HR 3negEl F5 § 91 57 weupt § v HaW W
ugel Iweh! ufth Hit @ § Toew g ol anil S GEET B ST
& T b @y 12, 44, e o et S mea ¥ aw D & 75, 07,
wife gR1 culn S §@an & 3O oe § e uy & for e
“CHEAT" % faT Ta[g & UgEi=aT &

Matrix-| Matrix-1l

LS |
Q111234 o | B[ 7|88
DIH|I|G|C|N 5|T|D[S|A|E
1TIC{N[I]|]G]|H 6|S|{A|[T]IE|D
2| 1|H|CIN|G TIDIE[AIS|T
A[N|G|H|T|C S|AT|IE|D|S
4 |[GlC|[NJH]| I QIE|S|D|T]|A

Options:
1) 10, 21, 68, 77, 56

2) 34, 43, 95, 85, 96
3) 41, 14, 76, 99, 79

4) 22, 00, 87, 67, 67
Correct Answer: 41, 14, 76, 99, 79
Candidate Answer: 41, 14, 76, 99, 79



QID: 50 -

A word 15 represented by only one set of numbers as given in any one of
the aliematives The sefs ¢f numbers given n the altematives are
represenied by two dasses of alphabets as shown in the given two
matnices. The columirs and rows of Matrix-l are numbered from 0'tc 4 and
that of Matrix-ll are numbered from 5 to 9. A letter from these malirices can
be represented first by its row and next by its column, for example, ‘Q’ can
be represented by 12, 43, efc.. and ‘M' can be represented by 67, 99, efc.
Similarly, you have to identify the set for the word “PRICE".

T U Ao U HEALEAE AR Ut gmn ¥, S B Rl & &
ol v @ R ¥ Reel & Ry ow deaeang el F @ o
grr o E dwr B By oaw @) el & b wegel & wEw iR
ofts fF Fegr 0 § 4 ¢ A awegpdl £ 5§ 91 39 e § v o
UEd sH Ul 3 A F e S gr e ST ssa ¥ SERR
& fw Q#7112 43, 3% e guln 37 E@Far ©oaw M 3 67, 99,
FfE grRY qukr @1 war ¥ OFHI WE ¥ MR 9y d R ow
“PRICE” & fow To @ usa=an &1

Matrix-] Matrix-li
el Feg|
ERFAEIL 5(6|7]89

D Q[T |S|R|P 5[T|M[E|C|D

TIR[P|Q[S[T BIE|C|M|[D|]

21S|Q|TIPIR TICID| 1 |IM|E

3|P|S|R|T |Q BIMIE[D|T|C

T|T(R|P|Q|S GO T|C|E[M

Options:
1) 23, 03, 55, 66, 99

2) 42, 24, 88, 56, 65
3) 11, 10, 96, 97, 85

4) 04, 41, 69, 75, 57
Correct Answer: 04, 41, 69, 75, 57
Candidate Answer: 04, 41, 69, 75, 57

QID : 51 - What is the full form of FDI?
THSISNTE $T SHNfA FY 7182

Options:

1) Foreign Direct Input
T et $1ge

2) Foreign Direct Investment
R

3) Fiscal Direct Investment
g

4) Fiscal Direct Input

v fa<ha 3ge

Correct Answer: Foreign Direct Investment

ECEACERINEERI
Candidate Answer: [ NOT ANSWERED ]

QID : 52 - In which situation, wages and prices chase each other at a very quick speed?

Tore fRUFY B, 37 a1 g U g @Y 3R iy 71 & IR0 =l 87
Options:

1) Disinflation

SHaEpiT

2) Reflation

YA

3) Stagflation

4) Hyper-inflation

affa

Correct Answer: Hyper-inflation

ffa

Candidate Answer: Hyper-inflation



QID : 53 - Banking comes under which of the following sector?

St Fofafad § 3 fra &7 & siefa emh &2

Options:

1) Primary sector
Tt &=

2) Secondary sector

3) Tertiary sector

4) Both Secondary and Tertiary sectors
Tt T it &

Correct Answer: Tertiary sector

Candidate Answer: Primary sector
Tufis &

QID : 54 - Which of the following is a basic characteristic of 'Oligopoly'?

PRI & A B @ e R B T TR R 82
Options:
1) Many sellers, many buyers
, ol
2) Few sellers, few buyers
3 fagsn, ofe
3) Few sellers, many buyers
3y fagea,
4) Many sellers, few buyers
, 3cg
Correct Answer: Few sellers, many buyers
37eq fashan,

Candidate Answer: [ NOT ANSWERED ]

QID : 55 - What was the main objective of the 5 Five Year Plan?

Utadt daasifa dieiT o1 qe wed ot UT?
Options:
1) Removal of poverty and achievement of self-reliance

RIS I aUT SreATHRar f ey

2) Faster, more inclusive and sustainable growth

g, 3ifie THTast qur

3) Inclusive growth

4) None of these

T A BIE Tl

Correct Answer: Removal of poverty and achievement of self-reliance

TR SgaH quT s@EfAHRar fe
Candidate Answer: [ NOT ANSWERED ]

QID: 56 - is a form of government in which the rulers are elected by the people.
T &1 T 0 & RH ST ! 1 g1 Rl 21

Options:

1)' Autocratic

2) I\’!onarchic

3) Democratic

4) Authoritarian
HfpRard!
Correct Answer: Democratic

Candidate Answer: Democratic

QID : 57 - Who said 'The God, who gave us life, gave us the liberty at the same time'?
e g g Shiad faam S wm W 8 aczen i & @, T Feram

Options:

1) Marx

i

2) Plato

el

3) Jefferson

4\){ Locke
N2



Correct Answer: Jefferson

Candidate Answer: [ NOT ANSWERED ]

QID : 58 - What is 'Patriarchic Society'?

g T gHTST ST g2

Options:

1) System that values women more than men

Ut e R Afgered 3 gest ¥ sifie A g o 3

2) System that values men more than women

eft g forad gost & Afgeelt F sifire g fear s g

3) System that values both men and women equally

T FER e geut auT Afgenst gHl &1 99 Hed feaT ST §
4) System that values elders

Ut ST o e B aifires e foT S @

Correct Answer: System that values men more than women
Wt e o gesl @) Afgarslt ¥ e Hew fRar s §
Candidate Answer: System that values men more than women
eft g forad qost & Afgenall F sifie g fear s g

QID : 59 - Members of Rajya Sabha are elected for how many years?

T JUT & T foba ant & fog Faifra it o €2

Options:
1) Two years

2) Three years
CREL

32 Five years

qrd

4) Six years

B

Correct Answer: Six years
GG

Candidate Answer: Six years
EREL]

QID : 60 - Under which pardoning power of the President, duration of sentence is reduced without
changing its character?

mﬁ%mﬁﬁﬁwm%%w%ﬁaﬂuﬁﬁmmmmmm
?

Options:

1) Commutation

el

2) Remission

3) Respite

RIFITHT

4) Reprieve

EICRER]

Correct Answer: Remission

Candidate Answer: [ NOT ANSWERED ]

QID : 61 - In Pocket Veto, the President of India can keep a bill for how much duration?

Urehe ISl H WA & PR et fadaes &) fora wma & T oo Uy 3@ 9 82
Options:

1) 1 month

Tdh Al

2) 6 months

B HIE

3) 12 months

§Rg Al

4) Indefinite period

AT F1a & fow

Correct Answer: Indefinite period

AT F1a & e
Candidate Answer: Indefinite period

T BT & forg

QID : 62 - The President's seat can be left vacant for how much duration?

RAFafe &1 G b T & o e <8 W 87



Options:

1) 6 Months

6 HIg

2) 3 Months

3 HIg

3) 9 Months

9 HIE

4) 12 Months

12 |

Correct Answer: 6 Months
6 HIg

Candidate Answer: 6 Months
6 HIg

QID : 63 - Which constitutional Amendment Act of India reduced voting age from 21 years to 18
years?

URd % T Widutte e st & adem 3 B o1y UeT &R 21 99 9 18 99 &R &t 7S &i?
Options:

1) 42" Amendment Act

42a1 e rfefm

2) 61 Amendment Act

61 F=iie

3) 74™ Amendment Act

74 df A

4) 83 Amendment Act

83al Fuile

Correct Answer: 61 Amendment Act
61al e

Candidate Answer: 61° Amendment Act
61af g=iier

QID : 64 - In which year East India Company was ceased to work and India was completely
undertaken by British Govt.?

5T 9 $x fea Fot & g e T R e T 9t URd W YR RER &1 Ul SieR 8
7 41?

Options:

1) 1838

2) 1919

3) 1858

4) 1898

Correct Answer: 1858
Candidate Answer: 1858

QID : 65 - At which location, a sculptor of chariot of Harappan time was found?
59 M W, TS0 99 & Y FT TS UaH T g3 o0

Options:

1) Lothal

I

2) Banawali

3) Daimabad

THETE

4) Kalibangan

EaRicull

Correct Answer: Daimabad

Candidate Answer: Kalibangan

QID : 66 - First Satyagrah started from Champaran for opposing the cultivation of
TR 3RY §HT TYH TR o Wl & o fopar mam am
Options:

1) Cotton

DU

2) Indigo

RG]

3) Silk

R

4) Kesar

i

Correct Answer: Indigo

Candidate Answer: Indigo



QID : 67 - Who was the founder of 'Vikramshila University'?
TasraRTen fasfaeerr &1 TRIb® HH UT?

Options:

1) Vijay Sen

EEREE]

2) Atisa

Sfera

3) Dharampal

efuTe

4) Ballal Sen
ERSIREE]

Correct Answer: Dharampal

Candidate Answer: Vijay Sen

QID : 68 - When India got Independence, who was the Prime Minister of England?

G YR WA gofl, I T SAVE & TUFHA P A2
Options:

1) William Bentick

faftrom afew

2) Warren Hasting

IR B

3) Margaret Thatcher

R

4) Climent Atlee
foemve Tee
Correct Answer: Climent Atlee

Candidate Answer: Margaret Thatcher

QID: 69 -
Match the following.

Tt o Fee S

Mountain / waa Continent / FerEnT
1. Mount Etna Asia
2. Mount K2 Africa
H2 Tad anhreRr
3. Mount Kilimanjaro Europe
AP wim Do
Options:

1)1-a,2-b,3-c

2)1-b,2-a,3-¢

3)1-¢,2-a3-b

4)1-a,2-¢3-b
Correct Answer: 1-¢,2-3,3-b

Candidate Answer: [ NOT ANSWERED ]

QID : 70 - Which of the following mountain range separates Europe and Asia?

Frafafed & 3 o ¥ udd gaen R0 qur TR Bl 3e B 82

Options:

1) Rocky Mountain Range
! gad g

2) Himalayan.Mountain Range
feuTera ydd s

3) Ural Mountain Range

P

4) Appalachian Mountain Range
udq

PRSI



Correct Answer: Ural Mountain Range
T Udd @
Candidate Answer: Appalachian Mountain Range

EACNLE

QID : 71 - Suez Canel connects which of the following water bodies?

W TR FaffEd 3§ F f oa el 1 sirgd 82
Options:

1) Mediterranean Sea and Black Sea

YA YR dYUT Il R

2) Mediterranean Sea and Red Sea

YA R U7 ofd IR

3) Pacific Ocean and Atlantic Ocean

TR HERITR YT 37 AgRITR

4) Mediterranean Sea and Arctic Ocean

YA AR T SR Y4 TEREIR

Correct Answer: Mediterranean Sea and Red Sea
YA AR 7T A1 R

Candidate Answer: [ NOT ANSWERED ]

QID : 72 - Which of the following Indian state does not share International land border?

Frofafed o ¥ YRd &1 S 91 150 RIS U I T 78] B2l 32

Options:
1) Jammu and Kashmir

T qUT AR
2) Uttar Pradesh

I U™
3) Bihar
IERIN

4) Madhya Pradesh
Ty ge™

Correct Answer: Madhya Pradesh
A U

Candidate Answer: Madhya Pradesh
Y 3T

QID : 73 - In which of the following city, world's second longest beach is located?

Frofafed & § fora 2eR & foy &1 guRT Ies o 95t e fRud 82
Options:

1) Mumbai

2) Kolkata

EAGEAR]

3) Puducherry

4) Chennai
Correct Answer: Chennai

Candidate Answer: Chennai

QID : 74 - Which of the following brings back deoxygenated blood from different parts of human
body to heart?

Fofafed & @ o sifefior Ied o THa TRR & fafis Ut 9 gea & A g2
Options:

1) Veins

T

2) Arteries

yrfar

3) Nerves

4) Lungs

BHS

qurect Answer: Veins

Candidate Answer: [ NOT ANSWERED ]

QID : 75 - Which of the following is a warm blooded animal?

FrafafEa & @1 o 79 e a1ell SR 87
Options:
1) Turtle



PGS

2) Snake
g

3) Ape
TR

4) Lizard
fsgasett

Correct Answer: Ape
TR

Candidate Answer: Ape
CCN

QID : 76 - Where is bile stored?
o et SufRd g 32

Options:
1) Liver

TFd
2) Kidney

3) Gall bladder

g

4) Spleen

ot

Correct Answer: Gall bladder

Candidate Answer: Gall bladder

QID : 77 - Which of the following is not a connective tissue?

Frofafed § 4 o 1@ wael Sue T8 87
Options:
1) Adipose Tissue
THHT SHdDd
2) Compact Bone
Ted ey
3) Cardiac Muscle
Ta&g Areue
4) Areolar Tissue
[ Ca
Correct Answer: Cardiac Muscle
ey giaush
Candidate Answer: [ NOT ANSWERED ]

QID : 78 - Normally how many times the human heart beats in a minute?

% fiFe & 7 &1 ged 9Ha: fhd=l IR YSHhdT 82

Options:
1) 82

2) 75
3) 72

4) 85
Correct Answer: 72
Candidate Answer: 72

QID : 79 - Muscle fatigue occurs due to accumulation of

TARE & ybr FIhgIeR YT gl
Options:
1) ATP
Tad
2) ADP
Tdid
3) Lactic Acid
ST

4) Carbonic Acid

3T

Correct Answer: Lactic Acid
3T

Candidate Answer: ATP

T



QID : 80 - The inexhaustible source of energy of stars is due to .

Ry & il & 31e WA BT BRUT gl
Options:
1) Conversion of hydrogen to helium
P bl ‘
2) Conversion of helium to hydrogen
Biferam 1 i
3) Decay of radioactive elements
fegiendt at &1 4

4) Excess of oxygen

Correct Answer: Conversion of hydrogen to helium
3
Candidate Answer: Conversion of hydrogen to helium
) e :

QID : 81 - Which of the following waves has the highest frequency?
Frofared & 3 frg o 3t srafy g oife 82

Options:
1) Radio
Ricp)

2) Infrared

SR

3) Microwaves

gem a<t

4) Gamma-rays

TTHET

Correct Answer: Gamma-rays
THT

Candidate Answer: Gamma-rays
THT

QID : 82 - Why the clear nights are cooler than the cloudy nights?

I 0, wee arelt et & St o B 87
Options:

1) Conductance

LEIGETS)

2) Condensation

gaguy

3) Radiation

fafezo

4) Insulation
o

Correct Answer: Radiation

Candidate Answer: Conductance
Udledhd

QID : 83 - The subatomic particle that does not have any electric charge is a/an

e Y& § e U IS fagqyd ofraw el g1e &1
Options:
1) Elgctron

2) Proton

3) Illeutron

el

4) All options are correct.
T R gl 81

Cotrect Answer: Neutron
e
Ca gdidate Answer: Neutron

e Cl)

QID : 84 - Dot-Matrix is an example of which of the following?

STe Afeay Fafifea & @ feger Saevm g2
Options:

1) A software

5

2) Scanner

3) Printer



fiiex
4) Keyboard
EICIS]

Correct Answer: Printer
Candidate Answer: [ NOT ANSWERED ]

QID : 85 - Which of the following pair is INCORRECT?

frfafed 2 9 oF a1 g a8t 78 82
Options:

1) 10 MB — 10240 KB

10 THST — 10240 Pt

2) 1 GB — 10240 MB

1 SitElt - 10240 THET

3) 1 TB - 1024 GB

1 T4t - 1024 Sfet

4) 1 KB - 1024 Bytes

1 el - 1024 SR

Correct Answer: 1 GB — 10240 MB
1 SfrEl - 10240 THST

Candidate Answer: 10 MB - 10240 KB

10 THET - 10240 Heft

QID : 86 - Which of the following gas is used in bulb?

Fofafed & § & @ 79 &1 3UanT 9oa H gla13?
Options:
1) Hydrogen

2) Carbon-dioxide
SERICEIES

3) Carbon-mono-oxide
A SHiass

4) Argon

3R

Correct Answer: Argon

Candidate Answer: Argon

QID : 87 - Chlorine gas is a major component of which of the following?

FadA T oo & S few o1 ey g 82
Options:

1) Water

EGl

2) Tear gas

3y i

3) Liquefied Petroleum Gas

=

4) Gobar gas
TR g

Correct Answer: Tear gas
81y

Candidate Answer: Tear gas
S

QID : 88 - What is Brine solution?

e A FT 82

Options:

1) Excess salt + water
TG + U

2) Silver

EIEi)

3) Excess gthanol + water
+
4) Excess starch + water

P T + T

Correct Answer: Excess salt + water

3P T + T
Candidate Answer: [ NOT ANSWERED ]

QID : 89 - pH scale ranges from .
e &a F1E LI



Options:

1)1to 14

1914

2)1to7

197

3)0to 14

0¥ 14

4)0to7

087

Correct Answer: 0 to 14
0¥ 14

Candidate Answer: 0 to 14
0914

QID : 90 - Which of the following primarily causes lead pollution?

FrafifEd & | grerd: BiF d1 Tgwu 61 o1 SR 87
Options:

1) CFL Lamp

| T T Y

2) Automobile Battery

TS §¢t

3) Polymer

4) Diesel Engine
EEGEEE]
Correct Answer: Automobile Battery

Candidate Answer: Automobile Battery

QID : 91 - What was the main aim of Montreal Protocol?

Tif2ad Melbid &1 & Ie3d &1 UT?
Options:
1) Protection of Ozone layer
TR T ERE
2) Bio-diversity Conservation
fafderar o1 e
3) Global Warming
T e

4) Climate Change
Searg uRad
Correct Answer: Protection of Ozone layer
ST TR T IR&

Candidate Answer: Climate Change

Searg gRad=

QID : 92 - Supersonic jets cause thinning of which layer?

YRA® S frg R &1 ke #3982
Options:

1) O: layer

0; Wd

2) Os layer

03 IRd

3) CO; layer

CO; Id

4) SO; layer

SO, Id

Correct Answer: Os layer

03 Wd

Candidate Answer: Os layer
O3 WXd

QID : 93 - What is the name of the app launched by the Union Ministry of Power to provide real
time information sharing on power supply?

ﬁgﬁ@ﬁmmﬁ@mﬁmmﬁwwmﬁﬁmwﬁﬁ@mm
w2

Options:

1) URJAMITRA

2) BHIM
oy

3) URIA
St



4) UMANG
Gl.

Correct Answer: URJAMITRA
Candidate Answer: [ NOT ANSWERED ]

QID : 94 - Who discovered 'Portland cement'?
qiéavs Hiie &7 sfawsR e e ur

Options:
1) Michael Faraday
BIECE BRI

2) Guglielmo Marconi
3) Joseph Aspdin
SR T

4) Isaac Newton

Sigeleh g
Correct Answer: Joseph Aspdin

Candidate Answer: [ NOT ANSWERED ]

QID : 95 - Nitin Thimmaiah is related to which sport?

Ao R fow @ & Tefia 82
Options:

1) Table Tennis

toa <

2) Boxing

3) Cricket

frae

4) Hockey

HEdl

Correct Answer: Hockey

Cuandidate Answer: Hockey

QID: 96 -
Match the following.
foreafoaa @ Brenea fifam|
Temple / #feT Religion / s/t
1, Dilwara Temple a. Bahai
Teerare #ifeT T
2. Golden Temple b. Hinduism
Faut T fig o
3. Lotus Temple c. Sikhism
TS AR i o
4. Sun Temple d. Jainism
W 3o o
Options:

1) 1-d, 2-c, 3-a, 4-b
2) 1-¢, 2-d, 3-a, 4-b
3) 1-b, 2-a, 3-d, 4-c

4) 1-d, 2-a, 3-b, 4-c
Correct Answer: 1-d, 2-c, 3-a, 4-b
Candidate Answer: 1-d, 2-c, 3-a, 4-b

QID : 97 - Which Chief Minister has been awarded with the 'Transformative Chief Minister Award'
on May 8, 2017?

8 TS, 2017 ) g g7 Tl Y ‘TiBRART i e srare & gwifAa fapa mar 82



Options:
1) Yogi Adityanath, Uttar Pradesh
Y, IR TS
2) Chandrababu Naidu, Andhra Pradesh
3) Arvind Kejriwal, Delhi
Rfd ,
4) Vasundhara Raje Scindia, Rajasthan
TYRRT X! R, e
Correct Answer: Chandrababu Naidu, Andhra Pradesh
Candidate Answer: Chandrababu Naidu, Andhra Pradesh

QID : 98 - Who wrote the book named 'Exile'?

TS AT T e fere 82
Options:

1) Barkha Dutt

G &

2) Valmik Thapar

TICHID YR

3) Tasleema Nasreen

4) Ranbir Singh Sindhu
TR R iy

Correct Answer: Tasleema Nasreen
Candidate Answer: [ NOT ANSWERED ]

QID : 99 - Pakistan has leased Gwadar port to state-run firm of which country for 40 years?

ITBEAT ) TG §EXIE 1 o S 1 s GIRT SeTierd U @i 40 98T o forg ug (efton) R fear 82
Options:
1) Iran

2) China

I

3) Afghanistan
GBI

4) India

YRd

Correct Answer: China

Candidate Answer: China

QID : 100 - Which neighbouring country of India is not among the founding members of SAARC?

YR BT DI I USIE 38 T P GRS I el 677
Options:

1) Nepal

B

2) Bangladesh

ELSIEN]

3) Afghanistan

ST

4)' Bhutan

Correct Answer: Afghanistan

Candidate Answer: Afghanistan



